&F0 265y i = X 15
AR 4 c b2 g ERAdLAT BEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
| 88 FhE 4 2 89hW 40% 11| 4&43 4.%@ 1.{3% 11) ’ |
EFELIA D Mtk
1 [EiE4 25, sk, M) CHE [40 | L 1| 440 4 7 1.0 1.0
FU7- i
2 EELPS Ot 30 | 1.1J#E 3. 90 3. 60 L. 1.0
o| B EiE 4 2 5ihn 40 | 1.2 (7 3.2/ 5. 480 1. 1.0
ERRLIA O Hitkek 30 | 1.2 [fd 2.2 4. 280 1. 1.0
kS| /N IR 30 | 1.1 —fffi 5. 1 1. 1.0
KR Ezeii 30 | 1.1 2.6Ez 5. 8l 1. 1.0
ANTERT] EiE 4 2 54h0 40 | L2|P 2.8f 4. 9[@ . 1.0
=Y E, NOY: 5 30 1.2 [f 2, 30 3, 6 1, 1.0
By I g 30 | L.1|# 3.5 3.9 1. 1.0
it EiE 4 2 5w 40 | 1.2 [ 3.8 6.3 1. 1.0
LELEASR > iR
1 EREiR B s Py o 2 R il KO —ti 2,500 3.8 —| —
2 EREELS O 30 | L.2|% 3.1 4. 9% 1. Okl 1.0
Z| A g 30 | 1.2 W 3. 20 6. 2% 1. Ol 1.0
U| SRS Eeet: 30 | 1.1 —fi 4. 3fh 1. Offfi 1. 0
=) =iy 30 | 1.1 W 2.5 5. Il 1. gl 1.0
+H i AR B M P D R Y L [ —t 4.0 7.8 —| —
EELIS O Hi; 30 | L2 41 9. 4t 1. 0% 1.0
B ey 30 | 1.1 —Fl 4. 7E@ 1.0E@ 1.0
&| E# Ei 4 2 B 40 | L1 |F 3.3 4200 1. oft 1.0
EERLIA o HiE
1 REIRE e o B2 T Ik —l 3. L 31— —
2 ERLEA O 30 | 1.1 |4 3.3 4. 260 1. OfE 1.0
i3 HHE [Ei& 4 2 B7RW 40 | 1.2 % 2.8fF 5680 1. Off 1.0

_ERELAS 0> itk

1 JRSEAREMIR PN oD R i P

—Jff 2. Offli 3. 7 — —




ST 265y i = X °H
I RCET A4 b BRI ALAT BEBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = # ®
72| A 2 FEELIS R 30 | L1 2.5
B EiE 4 2 5Hh 40 | 11| 2.9
LELEASN o i 40 | L.1|F 2.9
N RS [EhiE 4 2 5k, EhE2 6 0 5R 40 | 1.1|% 2.9
EEREAA o ik
1 FREERBE N o B A Hh O —fh 2.3l 3.5 | —
2 kLo 40 | L1 2.6fh 4. 8% 1.0t 1.0
FA i 40 | 1.1 —It 6. 3[@ 1. Ol 1.0
LERLS o i 40 | 1.1 —|F 6. 30 1.0 1.0
&/l Eet’ 30 | L1 B0 2.0l 2. 7THA 1. O 1.0
5| HE FhiE 4 2 BHn 40 | L2 |4 3.5F 6.3 1. 1[;@ 1.1
LFRLLA o> it
1 JREEHR A PN 0 2 A DO —fidt 2. T@ e - -
2 hREELLS o> Mgk 30 | L1|F 3.3 6.3 1. 15 1.1
HH Ei& 4 2 5Hmn 40 | 1.1 —|# 5. 00 1.OfE 1.0
ERELASR D iR
1 BREEIRE M 0D B T i — —Mli 3.6 — -
2GS oM 30 | 1.1 —|FF 5.
A = [EiE 4 2 B9H0 40 | L1 |F 30 4
LFRLIS D s 30 | 114 3.1 4
SR EoT 30 | 1.1 —fll 4.




